H & 0l & AHS B Ml A

20248 =0ila eS| MR

SA M
B ol B|(YUDDHE/NYBE - MBTI)
el NYA==SUH (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M=t 570,824 455,414 115,410
= 28,270
Al 542,554
=g 2e(Lets3AF /MUY - HEXE) 539,665 425,136 114,530
= 28,270
Al 511,3%
KL A==SH 175,195 192,343 A17,148
NE2el2g 175,195 192,343 A17,148
201 2egh=3| 85,012 92,662 AT,650
01 At2t2ltl 13,612 21,262 AT,650
OXZA DA & &2 2tUE
80,0003 152 A 1,200
OoFs& 7¢ 150,000 x42F A 600
OSEHOM 62 82 S+%
70,0003 *107H 2 700
OLXAM DEEHI| FANES
370,000 122 4,440
OLXNAM DEEH)| 223 28
363,000 *4H 1,452
OXIgAl Itet Az =28
80% #28,5004 2,280
OXgAaa?a =&
70,0002 7 H 63 2,940
2 s5=34l 71,400 71,400 0
OXNFHILNA & HFAMUE S 2& 28
2= 2,10024+34,0004 71,400
202 04| 3,200 2,816 384
01 2L 3,200 2,816 384
ONMEER =X 100,000 x4 & x2 2 +43] 3,200
203 g4l 1,000 1,000
03 A=A =] 1,000 1,000
OMg2el ge=d 1,000,000 1,000
301 EtE N = 17,000 17,000
14 DBt 2 a=S 17,000 17,000
Od4d & R HAIN Ald=
6,000,000 6,000
OXY M =2IAl X2
11,0002 *1,000A!I CH 11,000
306 £= 3,124 2,974 150
01 2d= 3,124 2,974 150
OXNEHARA NSEMEEI IS EAS
3,124,000& 3,124
308 AHAIEMSOIE 65,859 75,891 210,032
18 SIS0t HAS A 65,859 75,891 ~10,082




SA: AR

Ha: o Bo|(LPBTHT/NYBT - WIXL)

=aak II%*HI#%EHL T EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXIAMICH XIZAl SE2AAE SN2
65,858,570& x 14 65,859
KIZAl Mo 2tel 40,386 39,186 1,200
NZA Mgl = 40,386 39,186 1,200
201 fet=2 3| 32,286 32,286 0
01 AtR2t2|HI 29,786 29,786 0
OMENY DXAN & oHAR P
80,0003 202} A 1,600
Oxlg dess sl
70,0002 *10IH+32] 2,100
OBSEHIAIX AL X2l
617,1602x 122 7,406
OXHAICHRIZ MY E 2 AIA SIS H H XA AE
= 3,500,000& 3,500
O& Tz &% [ 15,180
SRMBHEXS| MHIA
220,000 x 122 2,640
olASYF ACIAAE
220,000& * 128 2,640
oML FAHIA 4403 22,5004 9,900
2 35244l 2,500 2,500 0
OXIS XAl 200,000 200
OXt& =Xl 2,300,000& 2,300
202 04| 4,100 2,900 1,200
01 2L AL 4,100 2,900 1,200
ONgHy+ JRFN
100,0003 x4 & +8& 3,200
OMERE HaHEX
10,0003 *3& +30& 900
303 Z&a= 4,000 4,000
01 Za= 4,000 4,000
OMgads o= 200,000,000 *2% 4,000
NI Z AL 17,030 18,710 1,680
KA AIRZAL 4,400 4,520 A120
202 04| 2,400 3,520 A1,120
01 =LHOHI 2,400 3,520 AT1,120
OHMISRZA 2=
100,000 x2& * 123 2,400
303 Z&a= 2,000 1,000 1,000
01 Za= 2,000 1,000 1,000
OME=d L= 40,000, 000& *5% 2,000
AHI S = 12,630 14,190 1,560
201 er2 3| 10,230 10,230 0
01 AtR2t2|HI 10,230 10,230 0




2A:

NS

A 2 2A|(LESSHY/NLSHE - HEXH)
Rl MR AL (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNSIAl EAI LRI
80,0002 x 162 A 23] 2,560
OXNSIA EF 82 s+
70,0003 * 120K 2-#22] 1,680
O=2Al MIOXA & FU2
80,0003 #2282} A 1,760
O=2M &2 22 &5
70,0002 x 1270 2% 18] 840
OXZASH HHIXA & HRUE
80,0002 *62 A 480
OXgAaSAH(ELOHe) 288 2IEH
500,000 <22 1,000
OXLASAH ANER 882 82
70,0002 x107H 2+23] 1,400
O=BUIIE JIH Xtz
330,000+ 10HE 330
Ooetiz &3« 180,0003 18+ A 180
202 04l 2,400 3,960 21,560
01 2LHoIH 2,400 3,960 1,560
OAINIR 0t e
100,000 32 »83] 2,400
THEEAl & b2t 63,950 63,500 450
= 28,270
Al 35,680
THEEA S kE 4= 7,410 6,960 450
201 et 3| 5,610 4,560 1,050
01 AtR2tc|bI 5,610 4,560 1,050
OTAK g2 B2 st
70,0003 * 1574 %22 2,100
OMLtAl &2 &2 B
30,0003 *1JH 2+22] 60
OM &M E M2 XA
80,0002 308t Ax13] 2,400
OADIEZESY ojAEs 22 &40
70,000 %1504 2-%12] 1,050
202 04l 1,800 2,400 2600
01 =LHA LI 1,800 2,400 A600
OMAMIR L HRFA
20,0002 x3&*30& 1,800
HEFEIH2 SAIKIE 56,540 56,540 0
= 28,270
Al 28,270
201 et 3| 54,340 54,340 0
= 27,170
Al 27,170
01 At2t2lt] 54,340 54,340 0




SA M
B ol B|(UNDDHE/NYBE - MBTI)
SRl THARAL & dtE 2t (&9 A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EESEEESS]
6,982.22+6,200= 43,290
= 21,645
Al 21,645
OMgzeIIABR B0t
70,0003 *120H 2-*52] 4,200
= 2,100
Al 2,100
OME=HIIHEL Hi
30,0003 *1JH 2+52] 150
= 75
Al 75
OMEFeI2 w2
80,0002 *55 A 400
= 200
Al 200
ORSLIIHTAIZIAS 2 320
70,0002 %53 350
= 175
Al 175
OSSAIIABAIAAS] Ao+
70,0002 x0H *43] 2,520
= 1,260
Al 1,260
ONE==E0tA MEXE T2 )8 FX2
220,0008x 122 2,640
= 1,320
Al 1,320
ONE DA EEH M ALY 01 A (CO-ROM)
- 790,000& 790
= 3%
Al 3%
202 04l 2,200 2,200 0
= 1,100
Al 1,100
01 =LHOHI 2,200 2,200 0
ONEFEDIIA HI2FA
20,0003 »2H+53]x 112 2,200
= 1,100
Al 1,100
N2l S 71,023 64,608 6,415
Nel=g2el2d 71,023 64,608 6,415
201 Ler23 | 11,380 11,250 130
01 At22t2lt] 11,380 11,250
ONI+& &Ml 2XIA
80,0002 108 Ax13] 800




SA: AR

Ha: o Bo|(LPBTHT/NYBT - WIXL)

Rl Mel=2SH (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OM=g =% 80,000 *58f Ax13] 400
IBI| 223 100,000 *10CH*13] 1,000
OANI2I=2 S& CHHZ
80,0003 *10et Ax13] 800
O A8IIEL42
50,0003 *12& 600
Oy Y=z a0t
70,0003 *1071*23] 1,400
ONgXz ==& 3,000& *400AH 1,200
OIISANSIRE EH ST
70,0003 7 B 23| 980
O& Xtz &7 sl 3,960
opEAHE X3 MUIA
110,000& 128 1,320
oIS UF ZIAIAE
220,000 =123 2,640
OItaA % =22 20,000+ 12& 240
202 Ot 5,400 4,824 576
01 =WO4bl 5,400 4,824 576
OHI%Y A2EX
100,000 x3%H 2 *43] 2,400
ON2I%el XL B4olezx
100,000 2 x2 2 +63| 2,400
ONI2I=2 XMxter HSEHX]
10,000 x224x302 600
303 Za= 5,000 5,000
01 Za32 5,000 5,000
ONI2I== MgHE
200,000, 000& *2. 5% 5,000
308 AXISHMSO0IN 33,543 27,834 5,709
13 SI|2ASHICHEH B A X L EFALH] 33,543 27,834 5,709
OHEFEXNHAMA+ FEAAE RRE=
33,543,000 33,543
405 KHeHE S| 15,700 15,700
01 ML =ZFSHI 15,700 15,700
osggadl 7 7,850,000 *2CH 15,700
NEAED|IZ 843 172,081 46,788 125,293
DEANI2H2E 172,081 46,783 125,293
201 Ler2 | 7,100 6,860 240
01 At 22|l 7,100 6,860 240
OLSMEIIEH S8
70,0003 =100 223 1,400
OLSANEIIRH 2= MZ
900,000& *43| 3,600

70,0003 x99 #22 1,260




SA M
BB 0l B|(UNDDHE/NYBE - MBAI)
SRl DEAED IS 243t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEEFEEEEE S
70,0002 x62H #2353 840
202 04dl 3,600 1,584 2,016
01 2L AL 3,600 1,584 2,016
OLEAMEIIFH =8
100,000 *3E 22 +63 3,600
301 22N = 46,000 30,000 16,000
14 JIEt2 = 46,000 30,000 16,000
OLUEAEIIFH &=
150,000, 000& *30% 45,000
OLEAMEIIZN EEE JIZEI2 7Y
5,000& *12]x20024 1,000
308 AtAIEHMSOIE 115,381 8,344 107,037
183 S| 2SO ZB HASAIE 115,381 8,344 107,037
OLEMEIFHSHEEAAE X2 15,381
OLSAII2H E2 OBIE 100,000
AY 2L ZHI (MR (O1EHIIEH 31,159 30,279 880
JlI=23sl 31,159 30,279 880
JI=23Hl 31,159 30,279 880
201 fer= 3| 24,119 23,639 480
01 At 2|l 24,119 23,639 480
OFAMEg JI=28Hl 200,000& * 122 2,400
OMNREE FLU(SAMA S)
160,000& « 12& 1,920
O#EARII| 228 #L 5,760
Od2=s)| gxz 49,9002 x 123 599
O=gH| 13,440
202 04| 2,240 1,840 400
01 =LHO LI 2,240 1,840 400
Oul&2% 20|
20,0003 x28 2 +43] 2,240
203 HR=AH] 4,800 4,800
MU A2 LRFAI 4,800 4,800
ORANEgg =AY 400,0002 12& 4,800




